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Q.1 F=fafeada e § @ Fefa’ e & RAoata & @9 #R:
Ans X A sagg

/< B.gsHE

25 C. srsauiim

o D. sameH

Question ID : 630680173051
Status : Answered
Chosen Option: D

Q.2 ‘gl wR ot At ut war
39 witehifwh o 3T oref o1 T W |
Ans X A. foeht T T &1 28T 81 SR GER ThIeTd Sl SHehT o I&T

o B. XM YT T H e ol Shgahe STTaeh 1l o forg it Sremielel shed gY Tehe & a9
BRI & v 7 &

2< C. S fied §Y o SfR g giaem &t s
25 D. IS I STE ST T Y 8T 81 I 7 Thech d1G H HE Tghe I AT

Question ID : 630680173065
Status : Answered
Chosen Option: B




Q.3 = a1l A @ g g™ et & arer 1 9ae fifSg:
Ans o A el difta doeiar @ g § |

X< B. &7 ug q&ia udl g

25 C. Trda oot s T B

25 D. 397 a¥ wfq uRere foar g

Question ID : 630680173106
Status : Answered
Chosen Option: C

Q.4 ‘TAA GG F HATS T T SUUT HIfged T&1 & a¥- a8 39 &+t siran & wnfar it ez
SURIh aTeRT & G U 1 T el

Ans X A IdAE GHT H a 98 39 IR Y R oft & ST & opRT Ut gt anfee TSt S 8

o B. I T # HIfged THTST ol SiRT SUUT g1 § a8 S WTTd &hl 7R i of STt &1

25 C. T1fec iRt &Uur T&i & TH1ST ol G, aiAH 99d & 98 S8 Wi 6l ok +ft o Sirar &1

2< D. GHIST &1 SIRT YT TATH T § 1fed 18] § a3, 98 I Wt i 7R ot of 571 g1

Question ID : 630680173069
Status : Answered
Chosen Option : B

Q.5 fA=fafEa d @ forg arer & Rrarae grasuste /ey &1 vaiT fohar T 82
Ans X' A 9E Uh Tilg SIG S|

o B. g A% 3R ST ET 2|

< C. TR 1R a8l &g 781 8|

75 D. R 9&al gH Tt STis|

Question ID : 630680173113
Status : Answered
Chosen Option: B

Q.6 =R arera & fore wreg Y i+ sz 82
‘ST UG HIRUT SFFATRFGET ot 2|’
Ans X A &R
X B.7E
o C. SHEIRFEAAT
#< D. g5

Question ID : 630680173052
Status : Answered
Chosen Option: C




Q.7 o == fi gfd & fog 3R 2reg- @1 9g A
arerd frdt e @
Ans o A ISR
X B. &g
K C.Rraea
X D. A

Question ID : 630680173077
Status : Answered
Chosen Option : A

Q.8 fAmfafaa d @ el RS g gt @1 9a+ fifS:
Ans  # A BATA # 9gd nifd g

X B. g I ol I et |

25 C. & gas fdes & g1 |

< D. TR Tt § 7 Wi @7 8

Question ID : 630680173119
Status : Answered
Chosen Option : A

Q.9 F=ffae arra-avsEl & g 9 # Hafa T &1 999 &
WRA AT & &R &,
hs Y Tl deh,
oRrefieer Y,

Ans X A. 3fear ugt €l R A7dn & &Y A uRrefierar Y ohs 9t awt a
o B. &3 Tl a8l deh R Hidl o =i uRrefian i afsar udh
< C. afear udh 3 wRrehirar & &g Tt il deh W HIaT & O”F &
< D. wrefi=ar Y st ust 361 s & aut deh WRd AT o ORI A

Question ID : 630680173095
Status : Answered
Chosen Option: B

Q.10 fFr=fafEe & @ fora faere & ST 2reg smaw & vafaaTsh &7
Ans X A fEg - v

X B. 31T - R

< C. fafa - fR®R

« D. fe - iR

Question ID : 630680173044
Status : Answered
Chosen Option: C




Q.11 F=fafEa art 9 @ fre e J area-fa=ar g5 82
Ans X A TERl & forg St A &) T sre ik g & Sfied &l
o B. 1T ofk et & e B Mify o1 grer e 21
< C. g=ar St g g ST 9189 ofiR SmaAfay & ame|
2< D. 7-9-f¢ H I+ areft Ffa-a¥il Ten T2ar 7Ot AT H & STt € g |

Question ID : 630680173068
Status : Not Answered
Chosen Option : --

Q.12 [ Ueshd # fod g arery a1 99+ -

Ans X A oIS @t & A el Tthe arett |
#< B. gl @l Mt & A gthg areft st |
25 C. 7 it gl Tthe arelt @t Tt g
o D. 7Y TThe aTcll TSl chel @I T g

Question ID : 630680173088
Status : Answered
Chosen Option : D

Q.13 F=fafed areat d @ g areu-R=me aren Resa e &2
Ans o A STTCH! i Tk &1 I UR STOHT T SR ORer hfed shear anieg|

2% B. &R STe] ! S S7TST fR e ST
< C. 3quf 3meHft g at 7 Sruft fRrgar s A 81
7€ D. At Tgg & Qfeh Soerdt & dt vefiar gt 81

Question ID : 630680173074
Status : Answered
Chosen Option : A

Q.14 fora area & ‘arfae AT ggrar &l 3fq v g g?
Ans X A 3ot wgeft Y wer AT o g AR R annfarer e e
#< B. 3T 319 A1 a1faret foRd @, & sreft et §
< C. g dt g o 1ot o STefl, 316 e el 8 el
o D. TH 4 e Tl ST & a1fret et TR €Y, g BT vt 9T e )

Question ID : 630680173062
Status : Answered
Chosen Option: D

Q.15 = & 9 Gy adaE we & area o1 94 AfSw:
Ans X A 7 9wrg A Ueh e saramm § Sraemier o g |
X B. I8 917 i d AR TET |
< C. il Tig d F=a farrs o §
o D. Rt & 9gd s=ama gt it

Question ID : 630680173108
Status : Answered
Chosen Option: C




Q.16 fF=fafeEa d @ fora area d g o forar 82
Ans X A T M g AT TSl g

o B. 3T QeI W1 @R
< C. teet Ter @red & forg fede g
#< D. g 9 ¥erd 81|

Question ID : 630680173123
Status : Answered
Chosen Option: B

Q.17 F=afafEa aret d e vafed weaa & g are-R= are e o a9 &R
Ans X A dR-&fR o IS8 srenTa ot AR

& B. ToTE for ot a FR-&fiR srerma

X C. FR-&fR sremma Iotew fo &t e

7< D. Io1gd for k-8R srervma at

Question ID : 630680173073
Status : Not Answered
Chosen Option : --

Q.18 FfaiEe are-Es &t g Iug+ 21z & Fea |
‘STt foFR & w2 gu gl
Ans X A ¥R
25 B. frmr
& C.dcadi
75 D. d&

Question ID : 630680173096
Status : Answered
Chosen Option: C

Q.19 Fifehe aTeRTian i Yok IUGRH 2es § AT &
I8 GEl hl S Wher aren A 8
Ans X A Srenmg
o B. Rt
X C. fshm
X D. frgdwor

Question ID : 630680173103
Status : Answered
Chosen Option: B




Q.20 ‘IE T S&TEX0T 3 o1 ATeqd a8 ¢ o6 waie=geres wrot &t sro=ht fafrean & s srem & garan

Ans

wITee e ot @)
9 arer & foRe umT & gl fir sigpfg &2
X A e et aselt &
X B. fSr9d arenT @ gerar
o C. [ yaiseren AT &t Sro+i fafrear g
2 D. Ig T I&Te0T & ol areqd I8 &

Question ID : 630680173057

Status : Answered

Chosen Option : B

Q.21

Ans

Comprehension:

fRrer oty & ST B ey, merferey ik Ryferea & udsr &= el ol S a7 ST Y T3 &
STt 8] 2 geft 31 & Try-gry Shfeeiarsi— & ggraes w1 off Ut e argd &) fen ok Shifenr Y o
& 3290 § ITE Ydeh 1A a1l 5 BT &l 1198R e TeTs- foraré & et Sy =R, fohg sigd s Qe &)
TE urd| @ 3 & are FReafed ofk Feeea & eahd fiwTs 33 o €, S SIEdiy U=u= orTaT 8|
fR1&r o1 Ty Shifdent & sigd tfdes JeT g3n 8| Srfererar faeneff sfifaenr um & I2a & e e &=d g
Y 519 37 STgepdt (18T el et ardht a1 SfRa fvem 18t fier urelt f I Smehler uoe e o] S
3 Fore-fo =9 # ek & T 8| I ahret H 18T sraara @ et g8 | Srue-or 3fe-ad & SgER
gt et fRrem & St ofY| g SirsT srfdrenier fremeff fomm die-awe fien dew AeTfdrnera 8 ameR e
RISIRT T tfeh & o1 @2 gi §| IRl SWh 31T BT i 370 AT 9frsg a1 91 8 &7elm & 8fR
TE I¢ T e T[ORA o 11T DR T B| 37T o o, sttt oik Tameff womet & Afaes frrae of
Y T § Tgraeh | i 3R et & goft &5 & srifderdT 8k YeMR & Stearenr i fiars &
BT 8| BT W ¢ & foh arihg ofik orurs eafth o T8l © Uaer U1 3B &, W ahed ST 3@ € SR 21fxh e
R @ & 3fR IThI 37R ek TEBRIET theh 38 8, Y SIhl hOHHTES ST UhR § Ge usdl &

SubQuestion No : 21
Iuh eI & IfRAT FRIN A1 T RS AT arier- d@e & smadd 7o Jisyg &1

25 A. e 1 deie Shifdent § sgd e JeT gan & 13rmehifdenr 7 e ot & Sent IfRd Arfasi &t
et ST SEqIY U=UR &9 § SR ITehT T W ST &

" B. o1l ch gy & fremelt A & arer-gry Shfderiarsi=r o forg 3 v o amgd & 39 fag @
T3 ITE T 18T TR 7 ol oid &1 foheg STal 3Teht I8 I52d Yol g1aT g1 fecamft 3T e 3 S
U= ST & | 59 ShOHUTEE oh hs hiRUT g | GRAM! & TAST oid I79 3 3fa anfesi= 78! aia afiR foneht
off I H yAT & o &, STUT I SR STT o SR fRA&T 7 e U & & I418 @l & &1 sfdenar ik
YETRIR o hIRT UTHT chl TRTTA § IS ohT 9 I8 B 1T & SR S99 SrEdiy 3R 35T &

2< C. 3R 9 7 g1 & el ot e dwart 7 gar 781 e uren ek wRoT 399 ot ueue B
AR & gt off o TEl e TR SR SrEiE 8t oI |

25 D. faemeft shifarentursi=r & forg 71 Ut &=t atgd &1 fehe fRrem Tt § Ient Ot g fRrem
Tel fireT urht S92 3= Sfifdepiursi= & #ee | 37! Ta T8 ATt YRR & ShRuT Fiehel off 78t
AT | SHfeg ST/ T8 STy 81 ST & SR d TTeldl 318 WR 9 &t &

Question ID : 630680173141

Status : Answered

Chosen Option: B




Q.22

Ans

Comprehension:

‘FRrer mfey & 2T @ Rrerer, meierer ok RyfRerer & yar &= aral &t o a1 ST Y I &
STt 8] & Tt I S ry-ary ShifaeiuTe & Tgres I off uTed e 9red g faen ok Sifaenr bt am
& IR Y ITE deh T a1 3 BT bt TR gl ugrd- forard & et w1 =1fev, fohg agd ar a8
el ura| & g Rl a1e FrecaiRd ok Fegea @ wead @ 37 @rd €, 379 S/iaiy uus &vrar g
frar a1 Hete Shifeenr @ aga sifdres SeT gor 8| Sifdena faemefT Sfifdent um & Igea & fverm o e g
2foIg 519 3% Sichet (18T T8l et urcht ar 3 fRrem =gt faet uredt at 374 armepter o9 & 8| o
3 fSre-fae =0 # 2eh ot 7Tl 8| AT ahret # fRI8T sgaam & ol g3 oft| Sro-310e Ife-ahH & SR
Toft ot fRrem &) Sl oft| iR ST sifRrenter fremeff e Tie-Twet fRier do TeTferera @ aeR s
IRISHTRY Y Ufh & o @S gt &| SThT AT 31T BT bl U SHAFYT wifarsg o1 9 8= w7 & ok
IE I6 IO e oA h 1o1q TR T B| 3117 h o, SuTerdt $fR w@reff wwret # Afde fikrae of
A T § T | siiae ok guret & Toft &5 & srfderdT ofik YENR & Steraren O @S &
18| o 3T 3B & 1 sl ofR sur aafth o Wgl  vaer ur 38 €, TIfa vt o 3@ & ofiR «ifth v
FR I ¢ R IThI 3R Teh TEIRTEC Undh 3@ , Al STehl haAHTEE 3eh HehR I e ISl o

SubQuestion No : 22

e arera 7, ‘srgger’ 21ea o1 3R v R a2
o A T8 G B 3 & S T8l g
X B. 8 g e A ude &1 2|
25 C. =<l 31T f I8 faenera Sige g 14|

Z< D. 31T ol &h1H W SR e ot |

Question ID : 630680173140
Status : Answered
Chosen Option : A

Comprehension:

‘fRrer mfe & Iga @ e, TeTidener ok fagfaermera & udsr @ aTell st ST a1 ST &l W &
STt 8] & Tt A R WrY-Ary ShifaeiuTe & Sgrden I off UTed e 9red g faen ek Sifarnr st a
& IeT F I8 eh ST aTct 54 BT ol 1R glene UgTs- foramg # &t ST =mfey, fohg gd R ST 8t
e uraT| 3 S oAt a1 Fecied SR feesd O weand fG@Ts 37 &d €, I8 Sy U0+ d7rdT &
fR1eT o1 Fefyr Sifdrent @ aga Sifdies SpeT gorm 8| sifdrear femeff Shfaer o & SR 2a & e ume & &
eIy 519 I Sigepdt (18T el et urcht ar 3fRa fRvem =gl firet ureht at I8 Smehter oo o 3| ot
3 fore-fere =9 # 2<h ot v Td o) AT ahiet | RIS a9 & ol gs | STo-310 Ife-ai & SR
Toft oY fRrem &) el of| tig et siferenter fremff fomT Tie-gwet fRier de TeTferera @ areR s
SRISTRY i tfth & o @2 §d §| IRl SR 3= BT vt 370 SHTHT s T 377 &R e g ofik
IE I6 O Y [OIRA ch 1o1Q TR T §| 3TST h o, SuTeTd $iR w@reff w1t # Afae fikrae of
TN T § Tgaeh g| Siia 3R gaTsT & gt &t & srfdehar ok YerR o1 Sieraren gre s &
TET 8| BT ¢W 3@ & foh SR iR S1uTe ef<h 317 Vgl ¥ AT UT ¥ &, WIfd vl ST 38 6 3fiR <1k vt
R Tg & 3fR IThT SR Ik TEHRIEC theh 38 8, f Sl huAHTES 3THch TR § e Usdl g

SubQuestion No : 23

Q.23 TTEi?T & TR STl A IFHATT & T HIROT &7

Ans

X A, Sfifrent 3 Trer Y o, fRrer-amet 6 et

< B. 5D T oA &l HaIet g0, et ofR @it wwrer
o C. 9fas a1 or, Amfesi= Y et smfderar ofik yemR
25 D. 3t eaf<h i aeh HEgpRTee SR 3! Afde fRtae

Question ID : 630680173138
Status : Answered
Chosen Option: C




Comprehension:

‘fRre1r e & Se2a & fAernery, AeTiaened ok fAyfaerea & udr &4 arel &t o1 a1 ST 6l 93 &Y
STl ] & ot I S ry-ary ShifaeiuTe & Hgraes I o uTed eheAr 9rgd g faen ofk Siferenr bt um
& Ie T Y ITE Y&k S aTet 3 S i 7R giem ugTs- forars & & e =nfeg, fohg aga ar gam g
T8 | 3 g Al are FAvafed ofk Feeea & weord fR@rs 39 o €, S SRidIY U= o &
frar a1 Hetey Shifcenr @ aga sifdres Se1 gor 8| Sfdehar faemefT Sfifden um & Iga @ fvem o & g
2foIY 519 37 Sichet (18T 78! firer ureht ar 3 fRrem =gt firet urelt at I74 armepter o9 & 8| o
3 fore-fae =0 # 2aeh ot 7Tl 8| AT ahret # 18T sgaam & el g3 oft| Sro-31oe Ife-ahd & SrgaR
goft ot fRrem & St ofY| wRg o Srfdyeniar fremef fomm Tia-gmet fRven de weTfaerera @ aTeR s
RISRY I dfeh & o W2 gl §| IRl W 31T BT i 3o SrfAfga sy a1 o S wrem § ok
TE I PO DY oI oh folq BT ShedT &| ST oh 2, SATUTemdt $ik @it garet & Afdes fiRmae of
AT To § T | Siiae ok et & Toft &5 & srfderdT ofik YER & Steraren O @rs &
T 8| BT 3T 3B & foh Srahyg SR Srurs efh 3= gl © waRr ur 38 §, wifar o o1 %@ § ofiR «1fvh v
P TE & SR ITehT 3TR Ieh YEHRIEE theh 3@ 6, Al Ihl hOHHTEe 3T UHhR  He USdT 8]

SubQuestion No : 24
Q.24 i & foR a2l o1 udT erar 8?

Ans o A TN H I8 a2 [fga ¢ ok Rer-demt | vawr o forg fvenflay ot SfRra Aniest oik smasaew
&Y § Afdenar & fen et =gy

Z5 B. GHIST H SRISHIRY chl GHET gl &, I8 UdT Ieidl §

< C. 3T a2 & UdT IoAdT & foh chael 1T 3fiR S1urs ef<h YETAR ¥ Shifdeniursi- | e 81 38 &,
3= goff gl s SRASIR &

2< D. ez H ug Jeg fAfga & o e wgunr & ugyrq o srufsi= & v &) gt oird &

Status : Answered
Chosen Option: C

Question ID : 630680173139

Comprehension:

frer ey & IeRT B ey, Aerfaerey ik Ryferea & udsr o= el ol S a7 ST ! T
STt 8] & Foft A o FrI-ary SHifdentuTe- § TgRIeh T4 U SheT a@red 8| faen ofk Sfifdenr o
% I Y ITE adh S aTet 37 ST i 7R giem UgTs- forars # & s =nfe, fohg aga aR gam &
e | 3 3 foi aTe FAvafed ofk AR & weord fR@rs 3 o €, S SRidIY U= oI &
fR1&r o1 Saier Shifdent & sigd tfAer JeT g3n 8| Srfererar faemef sfifdenr um & I2a & fem e &=d g
Y 519 37 Srgepdt (e el et archt ar SfRa fRvem =18t et urelt at I Smehter ueoe e 8] fo
3 fSie-fae =0 # aeh &t 7Td g| UTeiH ahiet A RIS sgaar & el g3 | Sru-310 3f2-ahd & Srgar
Tt ot fRrem & St off| tiq st sifdreRier fremeff fom Tie-TwEt e e e € aeR S
FRISRY I dfeh & o W2 gl §| Ihl SR 31T BT bt 370 SHfAfYa sy a1 w1 8 &7 § ok
TE I PO Y oI oh [o1q URA hedT §| ST oh 2, HATUTemUT SR @it grer & Afdes fRmae of
A Fe™ H TR g| St 3R THTST & Goft &1 & smfderar ofik YeMR &1 dicarer 91 fiars &
g1 8| BT W 38 & foh arihg ofik orure eafth o gl © Uaer Ut %@ &, Wi e 71 ¥R € SR 1fxh e
P IE § SR I 3TR Ieh TEHRIEE theh 3@ 6, Al Shl hEFHTEE 3Hch UHR I He USd 8]

SubQuestion No : 25
Q.25 31T & Ta | it & forg fAen mit o e sea &= g?
it faehea o1 9+ &1
Ans X A. 3T TS AT
o B. TS h ATY-TY SifAehaTS o TEH UTW AT
X C. aaiies IH-uIft
5 D. Afdes fiRmae ofiR Sy @t T8 T

Status : Answered
Chosen Option: B

Question ID : 630680173137




Q.1 Select the most appropriate meaning of the given proverb.

Every cloud has a silver lining.

Ans X A. Everything superficial has a deeper meaning associated with it which needs to be

unravelled.

< B. Nature is the most beautiful aspect of human life, which is usually not given much

importance.

" C. No matter what difficult situation you're in, there is always a positive side to be seen.

25 D. To be useful to the needy without thinking selfishly about oneself all the time.

Question ID : 630680172954
Status : Not Answered
Chosen Option : --

Q.2 Fill in the blank with the correct option.

This is book and | am reading it now.

Ans X A ours
< B. mine

" C.my
25 D. hers

Question ID : 630680172997
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate option to fill in the blanks.

The forced
Ans X A. acceptance; lamentable

«# B. exodus; deplorable
#< C. salutation; reprehensible

#< D. ovation; regrettable

of the community from the valley is

Question ID : 630680172995
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to fill in the blank.

She chess the whole day yesterday.
Ans X A has been playing

< B. plays
4" C. had been playing

#< D.is playing

Question ID : 630680173018
Status : Not Answered
Chosen Option : --




Q.5 Select the option that has a spelling error.
Ans X A. A mammoth rally was held to protest against the crime.
« B. His mother prayed for his longivity when he fell ill.
25 C. Orthodox people are victims of myopic views about life.
< D. The kernel of the fruit is always tasty.
Question ID : 630680172956
Status : Not Answered
Chosen Option : --
Q.6 The following extract has errors in syntax/structure. Select the option that gives the correct
alternative.
That is part of what happened in the Yellow Sea, where pollution is unchecked. It is the
birthplace of a maroon jellyfish that have been reaching a weight of 500 pounds. Blooms of
the creature were a once-a-generation event, the kind of thing that fishermen mentioned to
their sons.
Ans X A. the kind of thing that fishermen have mentioned to their sons.
< B. Blooms of the creature is being a once-a-generation event,
" C. Itis the birthplace of a maroon jellyfish that reaches a weight of 500 pounds.
2% D. That is part of what happened in the Yellow Sea, where pollution is unchecking.
Question ID : 630680172965
Status : Not Answered
Chosen Option : --
Q.7 Choose the sentence which has a spelling error.
Ans X A. The precocious children need careful bringing up by their parents.
< B. Neither of the two brothers is ready to relinquish his claims to the paternal property.
#< C. Everybody admires her because she is the quintessence of benevolence.
« D. They were afraid that the problem will have serious repurcussion on the country’s
politics and economy.
Question ID : 630680172962
Status : Not Answered
Chosen Option : --
Q.8 Choose the option with the correct words to fill in the blanks.
Our expectations and may, however, blind us to what the article and its author is
actually saying. If, for example, we are used to with the author, we may see only what
we expect to see and not what is actually there. Day after day in our routine of life, we
expose ourselves to the same newspaper.
Ans X A stabilities, agreeing, power

25 B. demotivation, complying, manual
< C. apprehensions, arguing, phase

" D. predispositions, disagreeing, pattern

Question ID : 630680172979
Status : Not Answered
Chosen Option : --




Q.9 Select the most appropriate option to fill in the blank.

Vishal intended to set up his own business but could not.
Ans X A was

X B.is
" C. had

#< D. has

Question ID : 630680173015
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate article to fill in the blank.
Shylock is living in my neighbourhood.

Ans X A An
< B.The
75 C.Few

o D.A

Question ID : 630680173008
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate ANTONYM of the given word.

Corpulent
Ans o A Slight
< B. Obese
< C. Blimp
Z< D. Awkward

Question ID : 630680172941
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate option to fill in the blanks.

He ______ 17 eggs, and for 35 seconds the audience began to think that he was wonderful.
Then the quick man along the front bench, “He has a hen up his sleeve,” and all the
people nodded their heads and said, “He has a lot of hens up his sleeve.” The egg trick was

Ans X A. constructed; shouted; abused
¥ B. extracted; whispered; ruined
#< C. abandoned; declared; molested

#< D. deserted; flashed; harassed

Question ID : 630680172973
Status : Not Answered
Chosen Option : --




Q.13 The following extract has error in syntax/structure. Choose the option that gives the correct
alternative.

Omnivores have an advantage in an ecosystem because their diet is the most diverse.
These animals can vary their diet depending on the food that is most plentiful, sometimes
eating plants and other times eating meat. Herbivores having most different digestive
systems than omnivores, so omnivores usually are cannot eat all of the plants that an
herbivore can. Generally, omnivores eat fruits and vegetables freely, but they can't eat
grasses and some grains due to digestive limitations.

Ans X A. Generally, omnivores eat fruits and vegetables freely, but they can't eat grasses and
some grains due to digestive limitations.

«" B. Herbivores have different digestive systems than omnivores, so omnivores usually
cannot eat all of the plants that an herbivore can.

< C. These animals can vary their diet depending on the food that is most plentiful,
sometimes eating plants and other times eating meat.

< D. Omnivores have an advantage in an ecosystem because their diet is the most
diverse.

Question ID : 630680172970
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate meaning of the given idiom.

Blaze a trail
Ans X A. To earn name and fame overnight unexpectedly

«# B. To be the first to do something new and important
#5 C. To be born in a rich family but still being humble

< D. To narrowly escape a danger that would have taken one’s life

Question ID : 630680172950
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate option to fill in the blanks.

In September 2011, The Hindustan Times did a study in Delhi and reported that the number
of malaria cases at the time were actually thrice as many as by the city authorities.
Earlier, in Mumbai, a municipal claim that 145 people died due to malaria in 2010 was
a lie after Praja, a city NGO, figures from the municipality itself.

Ans A revealed; exposed; extracted
#5 B. camouflaged; tolerated; calculated
25 C. disguised; deliberated; selected
< D. concealed; highlighted; stashed

Question ID : 630680172981
Status : Not Answered
Chosen Option : --




Q.16 Choose the option with the correct words to fill in the blanks.

To eat and not be eaten ___that's the of a caterpillar’s The leaf roller reduces
its risks of being picked off by by silking together a temporary shelter in which to feed

and rest.
Ans o A.imperative, existence, predators

< B. mission, peers, herbivores
< C. motto, species, carnivores

25 D. vision, purview, cannibals

Question ID : 630680172980
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate option to fill in the blank.
His doctor asked him to abstain drinking.

Ans o A from
< B. upon
25 C. with
25 D. against

Question ID : 630680173002
Status : Not Answered
Chosen Option : --

_——
Q.18 Select the most appropriate option to fill in the blanks.

A country can succeed in war only if its as well as are well stocked.

Ans o A granaries; arsenals
< B. mortuaries; morgues
#< C. menageries; infirmaries

25 D. sculleries; tanneries

Question ID : 630680172991
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate article to fill in the blank. In case no article is needed, select 'No
article required'.
Heis LLB student and is aiming to go abroad to pursue further education.

Ans X A. No article required
X B.a
& C.an
5 D.the

Question ID : 630680173011
Status : Not Answered
Chosen Option : --




Q.20 Select the most appropriate synonym of the given word.

Poise
Ans X A. Confusion

«" B. Equanimity
25 C. Frenzy
< D. Excitement

Question ID : 630680172947
Status : Not Answered
Chosen Option : --

Comprehension:

Read the given passage and answer the questions that follow.

When times are hard, doomsayers are aplenty. The problem is that if you listen to them too
carefully, you tend to overlook the most obvious signs of change. The year 2011 was bad. Can
2012 be any worse? Doomsday forecasts are the easiest to make these days. So, let's try a
contrarian’s forecast instead. Let’s start with the global economy. We have soon a steady flow
of good news from the US. The employment situation seems to be improving rapidly, and
consumer sentiment, reflected in retail expenditures on discretionary items like electronics
and clothes, has picked up.

If these trends sustain, the US might post better growth numbers for 2012 than the current
forecast of 1.5%—1.8%. Japan is likely to pull out of a recession in 2012, as post-earthquake
reconstruction efforts gather momentum and the fiscal stimulus announced in 2011 begins to
pay off. The consensus estimate for growth in Japan is a respectable 2% for 2012. The ‘hard-
landing’ scenario for China remains and will remain a myth. Growth might decelerate further
from the 9% that it is expected to clock in 2011 but is unlikely to drop below 8%—8.5% in 2012.
Europe is certainly in a spot of trouble. It is perhaps already in recession, and for 2012, it is
likely to post mildly negative growth. The risk of implosion has dwindled over the last few
months—peripheral economies like Greece, Italy and Spain have new governments in place
and have made progress towards genuine economic reform.

Even with some of these positive factors in place, we have to accept the fact that global
growth in 2012 will be tepid. But there is a flipside to this. Softer growth means lower demand
for commodities, and this is likely to drive a correction in commodity prices. Lower
commodity inflation will enable emerging market and central banks to reverse their monetary
stance. China, for instance, has already reversed its stance and has pared its reserve ratio
twice. The RBI also seems poised for a reversal in its rate cycle as headline inflation seems
well on its way to its target of 7% for March 2012.

SubQuestion No : 21
Q.21 Choose the appropriate central theme of the passage from the options given below.
Ans X A. Comparisons among different countries’ 2012 global economic scenario

< B. A comparative study of the 2011 and 2012 global economy
2 C. Negative aspects of the 2012 global economy
" D. A deep analysis of the 2012 global economy

Question ID : 630680173033
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

When times are hard, doomsayers are aplenty. The problem is that if you listen to them too
carefully, you tend to overlook the most obvious signs of change. The year 2011 was bad. Can
2012 be any worse? Doomsday forecasts are the easiest to make these days. So, let's try a
contrarian’s forecast instead. Let’s start with the global economy. We have soon a steady flow
of good news from the US. The employment situation seems to be improving rapidly, and
consumer sentiment, reflected in retail expenditures on discretionary items like electronics
and clothes, has picked up.

If these trends sustain, the US might post better growth numbers for 2012 than the current
forecast of 1.5%—1.8%. Japan is likely to pull out of a recession in 2012, as post-earthquake
reconstruction efforts gather momentum and the fiscal stimulus announced in 2011 begins to
pay off. The consensus estimate for growth in Japan is a respectable 2% for 2012. The ‘hard-
landing’ scenario for China remains and will remain a myth. Growth might decelerate further
from the 9% that it is expected to clock in 2011 but is unlikely to drop below 8%-8.5% in 2012.
Europe is certainly in a spot of trouble. It is perhaps already in recession, and for 2012, it is
likely to post mildly negative growth. The risk of implosion has dwindled over the last few
months—peripheral economies like Greece, Italy and Spain have new governments in place
and have made progress towards genuine economic reform.

Even with some of these positive factors in place, we have to accept the fact that global
growth in 2012 will be tepid. But there is a flipside to this. Softer growth means lower demand
for commodities, and this is likely to drive a correction in commodity prices. Lower
commodity inflation will enable emerging market and central banks to reverse their monetary
stance. China, for instance, has already reversed its stance and has pared its reserve ratio
twice. The RBI also seems poised for a reversal in its rate cycle as headline inflation seems
well on its way to its target of 7% for March 2012.

SubQuestion No : 22
Q.22 Choose the correct tone of the passage from the options given below.
Ans X A Farcical

< B. Humorous
75 C. Negative
« D. Analytical

Question ID : 630680173036
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

When times are hard, doomsayers are aplenty. The problem is that if you listen to them too
carefully, you tend to overlook the most obvious signs of change. The year 2011 was bad. Can
2012 be any worse? Doomsday forecasts are the easiest to make these days. So, let's try a
contrarian’s forecast instead. Let’s start with the global economy. We have soon a steady flow
of good news from the US. The employment situation seems to be improving rapidly, and
consumer sentiment, reflected in retail expenditures on discretionary items like electronics
and clothes, has picked up.

If these trends sustain, the US might post better growth numbers for 2012 than the current
forecast of 1.5%—1.8%. Japan is likely to pull out of a recession in 2012, as post-earthquake
reconstruction efforts gather momentum and the fiscal stimulus announced in 2011 begins to
pay off. The consensus estimate for growth in Japan is a respectable 2% for 2012. The ‘hard-
landing’ scenario for China remains and will remain a myth. Growth might decelerate further
from the 9% that it is expected to clock in 2011 but is unlikely to drop below 8%—-8.5% in 2012.
Europe is certainly in a spot of trouble. It is perhaps already in recession, and for 2012, it is
likely to post mildly negative growth. The risk of implosion has dwindled over the last few
months—peripheral economies like Greece, Italy and Spain have new governments in place
and have made progress towards genuine economic reform.

Even with some of these positive factors in place, we have to accept the fact that global
growth in 2012 will be tepid. But there is a flipside to this. Softer growth means lower demand
for commodities, and this is likely to drive a correction in commodity prices. Lower
commodity inflation will enable emerging market and central banks to reverse their monetary
stance. China, for instance, has already reversed its stance and has pared its reserve ratio
twice. The RBI also seems poised for a reversal in its rate cycle as headline inflation seems
well on its way to its target of 7% for March 2012.

SubQuestion No : 23

Q.23 Why is Europe in a ‘spot of trouble’?

Ans  # A Europe is already going through a phase of recession, which will escalate further in
2012.

#< B. Europe has reversed its strategies and has decreased the ratio of its reserves twice.
25 C. Europe has increased the price of its commodities manifold as compared with that in
the earlier years.

25 D. Europe is still recovering from the after effects of the post-earthquake reconstruction
efforts.

Question ID : 630680173034
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

When times are hard, doomsayers are aplenty. The problem is that if you listen to them too
carefully, you tend to overlook the most obvious signs of change. The year 2011 was bad. Can
2012 be any worse? Doomsday forecasts are the easiest to make these days. So, let's try a
contrarian’s forecast instead. Let’s start with the global economy. We have soon a steady flow
of good news from the US. The employment situation seems to be improving rapidly, and
consumer sentiment, reflected in retail expenditures on discretionary items like electronics
and clothes, has picked up.

If these trends sustain, the US might post better growth numbers for 2012 than the current
forecast of 1.5%—1.8%. Japan is likely to pull out of a recession in 2012, as post-earthquake
reconstruction efforts gather momentum and the fiscal stimulus announced in 2011 begins to
pay off. The consensus estimate for growth in Japan is a respectable 2% for 2012. The ‘hard-
landing’ scenario for China remains and will remain a myth. Growth might decelerate further
from the 9% that it is expected to clock in 2011 but is unlikely to drop below 8%-8.5% in 2012.
Europe is certainly in a spot of trouble. It is perhaps already in recession, and for 2012, it is
likely to post mildly negative growth. The risk of implosion has dwindled over the last few
months—peripheral economies like Greece, Italy and Spain have new governments in place
and have made progress towards genuine economic reform.

Even with some of these positive factors in place, we have to accept the fact that global
growth in 2012 will be tepid. But there is a flipside to this. Softer growth means lower demand
for commodities, and this is likely to drive a correction in commodity prices. Lower
commodity inflation will enable emerging market and central banks to reverse their monetary
stance. China, for instance, has already reversed its stance and has pared its reserve ratio
twice. The RBI also seems poised for a reversal in its rate cycle as headline inflation seems
well on its way to its target of 7% for March 2012.

SubQuestion No : 24
Q.24 Which word in the passage means ‘relating to government revenue, especially taxes'?
Ans X A Forecasts

«# B. Fiscal
75 C. Recession
< D. Retail

Question ID : 630680173037
Status : Not Answered
Chosen Option : --




Comprehension:

Read the given passage and answer the questions that follow.

When times are hard, doomsayers are aplenty. The problem is that if you listen to them too
carefully, you tend to overlook the most obvious signs of change. The year 2011 was bad. Can
2012 be any worse? Doomsday forecasts are the easiest to make these days. So, let's try a
contrarian’s forecast instead. Let’s start with the global economy. We have soon a steady flow
of good news from the US. The employment situation seems to be improving rapidly, and
consumer sentiment, reflected in retail expenditures on discretionary items like electronics
and clothes, has picked up.

If these trends sustain, the US might post better growth numbers for 2012 than the current
forecast of 1.5%—1.8%. Japan is likely to pull out of a recession in 2012, as post-earthquake
reconstruction efforts gather momentum and the fiscal stimulus announced in 2011 begins to
pay off. The consensus estimate for growth in Japan is a respectable 2% for 2012. The ‘hard-
landing’ scenario for China remains and will remain a myth. Growth might decelerate further
from the 9% that it is expected to clock in 2011 but is unlikely to drop below 8%-8.5% in 2012.
Europe is certainly in a spot of trouble. It is perhaps already in recession, and for 2012, it is
likely to post mildly negative growth. The risk of implosion has dwindled over the last few
months—peripheral economies like Greece, Italy and Spain have new governments in place
and have made progress towards genuine economic reform.

Even with some of these positive factors in place, we have to accept the fact that global
growth in 2012 will be tepid. But there is a flipside to this. Softer growth means lower demand
for commodities, and this is likely to drive a correction in commodity prices. Lower
commodity inflation will enable emerging market and central banks to reverse their monetary
stance. China, for instance, has already reversed its stance and has pared its reserve ratio
twice. The RBI also seems poised for a reversal in its rate cycle as headline inflation seems
well on its way to its target of 7% for March 2012.

SubQuestion No : 25

Q.25 What may be regarded as a positive aspect of the 2012 US economy as mentioned in the
passage?

Ans X A. A new government which is making progress in economic reforms
4" B. Steady improvement in the employment scenario
2 C. Doomsayers’ positive reports on US economy

/< D. Consumers are no more ready to waste money on discretionary items.

Question ID : 630680173035
Status : Not Answered
Chosen Option : --

Q.1 MSMEs & fog Iy REHR & dgd, Tdeh MSME ot foha-T Hehg REpRR R strar @ fSa=t
T2t deR-iieh UR SR IeUTE T heldTgdh sasiieheor fahar &2

Ans  # A 15¢@
< B. 30 @
X C.20 @
2 D. 25e=a

Question ID : 630680173250
Status : Not Answered
Chosen Option : --




Q.2 SrT 2022 & HgH #, ;59 T 7 aRaR =ararer (S2nue) frdaes, 2022 gk fora, sit
f=fafaa 9 @ g aog 4 @nfta uRar ~arareat & G waR e &Rdar 82

Ans X A HAOIQR
75 B. s
o C.ATTeis
< D. Rfarg

Question ID : 630680173262
Status : Not Answered
Chosen Option : --

Q.3 2011 I SFTUMT & AR WRA il el SEEAT | 'Y STt (ST) a1 ufererd foha=m
&?

Ans o A 8.6%
2< B.11.8%
5 C.9.8%
#< D.10.8%

Question ID : 630680173255
Status : Answered
Chosen Option : A

Q.4 i 99T 9iYg & U # Seferifore Sard 3 aret 9ivel # 9 g dgefia qear Refafaa & @ faa
T g & Heifda 9?

Ans X A R TSR T
< B. R 5149 98
 C. Mm@ e arél
#< D. ¥R Sf=ar urét

Question ID : 630680173343
Status : Answered
Chosen Option: B

Q.5 fAAfafea d @ oar du gkt @ S« g g2
Ans X A. sERES

< B. I WS

X C. gaduREfE
" D. T

Question ID : 630680173325
Status : Answered
Chosen Option: C




Q.6 et 2023 & 7 #, FAafafaa & & fFd 7 Io=m & SaqR § et @i areft st

SJVN &Y 1,000 MW ) sfierrR IR w1t ulRatst=n i smemsfarer w=i?
Ans X A. sifdaemg
o B. Siud g
X C. ST s
#< D. Rz arieze™ A

Question ID : 630680173322
Status : Not Answered
Chosen Option : --

Q.7 F=fafaad @ fra af & R Sars faarg sifafRaw oifRa frar mar ar?
Ans X A.1874

& B.1872
2 C.1873
% D.1875

Question ID : 630680173278
Status : Not Answered
Chosen Option : --

Q.8 urN & AT W o+ aret fed varg & forg Rt Tga uier & aRY ok vdhiepa gahia &9 &

Tefa ffam sl wersmar gl
Ans X A Tig @ EE
75 B. T &1 |
o C. OfmR o1 e
75 D. st a1 A

Question ID : 630680173329
Status : Answered
Chosen Option : A

Q.9 Tshart AT ST (ASANI) T 3gH T« fahed um?
Ans X A. fgg agramR

#< B. UTid AgETR

#< C. 3Re 9R

o D. ST &t @TEt

Question ID : 630680173312
Status : Answered
Chosen Option: D




Q.10 500 aeffa qrr=T THflaT 7= (Sattriya dance) WRa & fAfaf@a 7 @ o v & dwra wat &
34T 87

Ans X A dufew

o B.Iegd
< C. afeor-ufsas
2< D. afgorgd

Question ID : 630680173285
Status : Answered
Chosen Option: B

Q.11 geE da &t Rulé 2021 & ITER, Hehel B TS (GDP) & ATHe A Wk g &1 e
FIT A&l

Ans X A @3l
o B. gr=ai
/5 C. graai
#< D. 3madi

Question ID : 630680173259
Status : Answered
Chosen Option : A

Q.12 R Rerd da & srgaR, Frafafe@a d @ &9 a1 srgyRa oy fom de 78 82
Ans X A ISt oy fam e fefads

< B. RRanferes g fasr o fiffids

25 C. Ihy o7y fast da forfcs

«# D. ST @Y I de faifaes

Question ID : 630680173301
Status : Answered
Chosen Option: D

Q.13 uRd d@faeas o1 fAfaf@d d @ @ a1 s U YR ARTRS &l URd & @R &9 | @
U @ gua Y e 3 32

Ans X A arges 19(1)(b)
 B. 3= 19(1)(d)
X C. g3 19(1)(c)
2 D. 3rg=g 19(1)(a)

Question ID : 630680173337
Status : Answered
Chosen Option: B




Q.14 F=fafEa d 9 Fw af 7 dfea SR &t uer faagwor @ s=nfae forar mar ar?
Ans o A 2000
< B.2002
< C. 2001
2 D.2003

Question ID : 630680173293
Status : Not Answered
Chosen Option : --

Q.15 F=afaf@a # @ s ar =manefier sreasiegs Er &1 gaaT =aranfier & sit sratear e &7
Tofta i Y v wewita Tsdis w1 fRwar ot ok S=et 2023 & 7 A Qarfga gem ar?

Ans X A STIEfd U UH. IS, dhefithedtT
2< B. IR SieH iy ek
X C. =ryfd ga.ars. sehdTet
o D. T O, 3fege SR

Question ID : 630680173345
Status : Answered
Chosen Option: C

Q.16 fa=fafEa d @ fora fas w@sft & 1962 @1 of fAdsror srfafAam der farar ot o= Al grT kT
T gft Tof sroit Rl arog & AT ur ek w@of & arger FRER & wR ufady & fear ar?

Ans o A ARRSH 3ETE
< B. . I darg@

X C. &8, pumEET
7< D. O =iet

Question ID : 630680173275
Status : Answered
Chosen Option : A

Q.17 Ueh SATSHh IUE, ST STEST UR & SITE ST aTell Geh SIET, GelTs ST aTefl, ha iR A1d gl g, STdaR
R ffofaa d @ fora A9 gRr gars ar st 82

Ans X A.CoH,
2 B.N,
& C.CO,
7< D.H,0,

Question ID : 630680173334
Status : Answered
Chosen Option: D




Q.18 TTe areeng it F=faf@a # @ fra Tsgpart A waren Atgge= Rird R o foredt 2
Ans X A Sg-3F-fr

" B. STEISMRT

X C. et

< D. S &

Question ID : 630680173271
Status : Answered
Chosen Option: D

Q.19 wReta &g I e da siftfaaw Aafafaa & @ g af & ailRa frar mar ar?
Ans X A 1987

< B.1988
7< C.1986
o D. 1989

Question ID : 630680173305
Status : Not Answered
Chosen Option : --

Q.20 swTE 2022-23 3 IHFER, HIY PM 7fa 21f<h @ Heifda faei J #gg &< & fog 50 adf & sars
Th 0T & & B 3ol et foha-r smafea em R s &2

Ans X A 2.5 IS
/< B.?1.5dG S
" C.31 o ais
< D. 32 9Rd il

Question ID : 630680173297
Status : Not Answered
Chosen Option : --

Q.21 Frfafea & @ frerar =™ &/ fre raes/midenT @t 2022 # vt fRspuor & awfe fésar war
um?

Ans o A T ST
25 B. ATRIS 34 §adAGR
X C. sharf S
25 D. Mfeie Ricaa

Question ID : 630680173289
Status : Answered
Chosen Option : A




Q.22 e gy Sam YR & FRefaf@a 9 @ e o & R 82
Ans X A AT

«* B. uffm et

& C. RdfFrm

25 D. STUTIe T

Question ID : 630680173311
Status : Answered
Chosen Option: B

Q.23 FIWT HIGET 1 WA 2ER - wierdivn Fefafea 7 9 fra vsu & g fo a2
Ans o ALTSIRIA

< B.@AfeHh

< C. afifgem

X D. TERIE

Question ID : 630680173281
Status : Answered
Chosen Option : A

Q.24 2011 &Y STAOMT & IUR, FArfafRa d & 19 91 I Ta@ FH STI=IRET areT ISy 82
Ans X A Huerd

7< B. SRUTEA U
< C. fasia
o D. Rifann

Question ID : 630680173318
Status : Answered
Chosen Option: D

Q.25 2022 #, sifa=ner "ree ol Ao d €@ fora @« & g o R e
Ans X A AeaEy

o B. 7 A & ()

X C. ganT theh (Fewmy o)

X D. faehsl g

Question ID : 630680173267
Status : Answered
Chosen Option: C

Section : General Intelligence




Q1 ST T # IaEE TRT #R A9 T v gedt F 3o e
P&Q @t g P Qg ¢
P@Q#&Fm3TE™HF'P, Qa oS
P % Q & 3T §F P, QHF aga ¢
PSS Q@ FTEHP QF Y
P#Q AT T FP QF Rard
TIFVEWET@X%YS$SZHFW, Z3 FE gox gefag 2

Ans o p Rrar
« B ofy
Xc oS

xo 99

Question ID : 630680173415
Status : Answered
Chosen Option : B

Q.2 foer fafRaa g & #, "LAND" &1 "LBPG" @ ser & 3 "JEAN" & "JFCQ" fomr Jmer &1 &
W &9 # "HOME" &t &8 forar srwem?

Ans A HQOG
X 5 HQNH
X ¢ HPNG
v HPOH

Question ID : 630680173403
Status : Answered
Chosen Option: D

Q.3 @ BHER ¥ YFAN OF T HAT-3EET AT F A S & FaT G F| e & o oen-sven
T HH AW R, BO-am, 3, awa AR Fuw S § oAt S S T s w5 & e an
T FUF I Fa AN G FT FET F FOAN GA # S0 o § g gAY 7 S8 & gid a8 Herar
$r BT 21T &1 WRT FIGER $ U HrEdr ¢ Wiordr v e Hiv e Fr waw & & o =t v
HR e ¥ O e # ¥ o GF aew & owen F g o

XA FIEER
X B HIHAT
KC.E‘EEHT
VIS TIRY

Ans

Question ID : 630680173379
Status : Answered
Chosen Option: D
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Ans s A TTE
78 fermer
xXc qfr
X D. Hehrel

Question ID : 630680173368

Status : Answered

Chosen Option : A

Q5 el ST o ST ST Bt A TED A R T ue e e &
3873 Y UhRT & FU F peag Tomam o & S R i g

S |V|G [L |[R |[N |A |M |O |E |T
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Ans X A HE¥aa

X B Haf¥a
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X 0. #¥EHa
Question ID : 630680173407
Status : Answered
Chosen Option: C
Q.6 s Faw &, v T ST A Aot F A F TS FR G Wewgar AR A F seqeirma g '

o wfieT # anfder 7 g AR & HeedoT @ vy & war & ReafiE & o dwwr G 2
Ans s 73

X8 70

xc 74

X0 65

Question ID : 630680173375

Status : Answered

Chosen Option: D
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Question ID : 630680173437
Status : Answered
Chosen Option: D
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Question ID : 630680173461
Status : Answered
Chosen Option : A
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Question ID : 630680173433

Status : Answered

Chosen Option : D

e
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Question ID : 630680173387

Status : Answered

Chosen Option: C
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Question ID : 630680173416
Status : Answered
Chosen Option: D

U2 =g gEE # wE w5 A HEART guer ¥ gefg A8 2
222, 223, 227, 236, 252, 277, 312

Ans X A 252
¥ B 312
xc 277
XD 223

Question ID : 630680173452

Status : Answered
Chosen Option: B
— = =
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Ans oA E
X8 G
vCD
XD H

Question ID : 630680173371
Status : Answered
Chosen Option: C




Q.14 Fymedt & & 7€ gemet #F ¥ F9 O Tew B gEeEs 4w § g e (7) F g
FE?

211, 214, 219, 226, 235, ?

Ans oA 247
X8 245
« C 246
XD 244

Question ID : 630680173448

Status : Answered

Chosen Option: C

Q.15 frw = vt it Tt & cTEE 91 7 A g B Fud # & % Twed v §, 59 & 7w
AT & W A9 J=t ¥ e 9 g g, a7 &t % e o feawt & @ #iw avy Beed st
FT AMF T F HFTROT FIT S/ E

T

1.7 B, HaY &
250 Fat, FH |
3asf 3mE, T E
e

. & ¥¥, 3 £

Il. o T, 9o &
Al
® Xa HFe T | HTEOT FaT B

x5 sy | 3R fews || &t e = E

< C.
o7 & AR | HeTEROT HAT § AT AR || HFEROT HIAT B

v 0 ae Ty || 3TTEIT HT gl

Question ID : 630680173382
Status : Answered
Chosen Option: D

Q.16 =1t 3e1T fgw 71w &, ot & &= ol vo @ whaEe £ 3T v wEee ¥ 36 T MER w e
Eyl

Ans XA SATURDAY
x B TUESDAY
X ¢ THURSDAY
+ 0. MONDAY

Question ID : 630680173426
Status : Answered
Chosen Option: C




Q17 =x weg-ges e v €, Bed ¥ A Bl @R @ weae § et o e € 39 sEee aeg-geA
F TOA FLI

e v sfeer  w S

Question ID : 630680173430
Status : Answered
Chosen Option: D

Q.18 =7 faweT & w2 H{ 1 AL g ¥ W THR FAOT ¥ AW T Mee g g W WA &

PARK : 16011811 :: SELF : ?

Ans XA 18051205
x8.19051105
+ C. 19051206
«D. 18051106

Question ID : 630680173420
Status : Answered
Chosen Option: C

Q19w v RFwedt & ¥ 30 WEN-TAE & 997 F, 1 HEARET WA H TATEH =g (?) H
wfoFenfia & & &l

KYF, NUK, ? , TMU, WIZ
Ans X A QPP

« B. QAP

X c QQQ

X 0. PPP

Question ID : 630680173391
Status : Answered
Chosen Option: C




Q20 G smgfaat # Fer & % THE # Aee w1 FA AR FF AT FET B we S @ w5 @
T §| Fow W T FEIS HAT @

Ans

X B. &

X D. O

Question ID : 630680173444

Status : Answered

Chosen Option: C

Q21 g EF '+ & Far sty ' & G & 3 %' g H &7 309 '+ & o oe=foiaa g
H geda=+ REd (?) & T W FAT 370E?

16 GBE17F52H13=7

Ans oA 161
B 141
xc 171
X0 151

Question ID : 630680173462

Status : Answered

Chosen Option: B




Q.22 zfy ereg 'OUTSCREAMING' & 3wl # 35T JUTATeT % 3ER [Fedaieya far = §, a

Ans

eaEd & e e s & Rl swfefie @

A T
X B TH
veo T

XD gr

Question ID : 630680173394
Status : Answered
Chosen Option: C

Q.23 Fr=ffEe o & av v & § 0 Faw 3w 4§, el ¥ vs $ gid 98 s I wem §

Ans

@MW) 7025647431698964980250414827346 (3M
(Fite- Scier WEAT Teh 3 T WG §)

<A gr

XB.l-_'i'm-

X C Teh

#A D=L

Question ID : 630680173397
Status : Answered
Chosen Option : A

Q.24 R 93 &t 3R To= YF B E| 2 km ToS § GG 95 T A5T &1 5 km T F AE 98 T F

Ans

TS R g5 g1 A 3 TE Fw R 1 3 srfdew 2
X A FeaT

X B. qﬁ

v ¢ qfggH

K 0. zZfeyoT

Question ID : 630680173412
Status : Answered
Chosen Option: C




Q25 # wet wply & R v Fe-dwt F TR Fwew At F ¥ S wghy 5= S w2

)

NN

Ans

™

X D.

7|

Question ID : 630680173445
Status : Answered
Chosen Option : A

Section : Quantitative Aptitude

@ Ilﬁ'x*y=x+y—\/ﬂ%, dar 32+8 =2
Ans A AQ

X B 16

#C 24

XD 32

Question ID : 630680173151
Status : Answered
Chosen Option : A

Q2 Ffy Bsmgs #r For 90° 3K f=wr 6 cm &, A PoTwE # & we 7 Hfaw]
Ans XA~ 366’3712

X B 24 cm?

X C 9cm?

D 91 em?

Question ID : 630680173242
Status : Answered
Chosen Option : A




Q3 u%va:mlgﬁrsgaa:raﬁm?swmz g, d Il 1 T FEs Ad ST

Ans X A 12 em
XB 10 cm
+ C 13 cm
XD 11ecm

Question ID : 630680173237
Status : Answered
Chosen Option: C

Q4 T e # AAEE 3emE # AR 58F a5 T e gt F 3o &)
FAEN ¥ I F AL & SN vF gHEEN @ F9er A 3 B ¥ ¥ v e wie $ ww|

TR FEl | wEl | dm | e | #® =

=T 18% | 22% 15% 20% | 15% | 10%

W(A:B) 5:4 4:5 2:3 1:2 5:7 4:06
-]

AT % SRS HIe B EFRT 4 AT AAse BT HT TEIT H, U HT H @R 7 F AN a7 qw
FraTge B T FEA A H e 17

Ans XA 1:4
B8 4 :3
xc 4:1
<D 3:4

Question ID : 630680173219
Status : Answered
Chosen Option: B

QS5 =fy Rew 3 T vF 20 G F @ N TG € T AT G 39 w0 30 R & @
T FHd § Fare 97 AT By 36 a0 # 15 R F @ = FHa € 9F 3 37w H e
ot & [ W mHT 2

Ans XA 36
v 8 40
X c. 45

# Db 50

Question ID : 630680173209
Status : Not Answered
Chosen Option : --




Q.6 o gy #, FAEE § 12% Fr Iy @0 T FfE (COVID) 3 TRE F FROT A 12% H FA
ST &1 ot adEe & aew #7 Sauer 295680 ¥, A wET @ gRiHe Faaer |

Ans A~ 300000
« 8 280000
< C. 320000
« D. 313000

Question ID : 630680173171
Status : Answered
Chosen Option : A

V7 e FifET

(0.8 —(04)*
(0.8)2+(0.4)2

Ans oA 064
B 048
xc 0.16
XD 0.36

Question ID : 630680173153
Status : Answered
Chosen Option: B

Q.8 wx =¥ Fo 152 km F I TEFA ¥ o7 T ¥ T8 4 h F g, 35FHr =197 18 kmvh o 3R 99
I F v, Ig w16 km/h & 79| 3HET T T B

Ans

XA 153 km/h
X B. 155 km/h
X c 16% km/h

& D. 163 km/h

Question ID : 630680173203
Status : Answered
Chosen Option: D




Q.9  wF 3w 52 kmh # AT T & T w4 &1 MY 9E 84 km F g 42 kmvh T W T T FAT
¥ st 9w gl 65 km/h F T F T T §, & 3TF q@T FF H AT FA g l

Ans XA 156 km
+ B 184 km
#C 100 km
X D. 164 km

Question ID : 630680173165
Status : Not Answered
Chosen Option : --

Q.10 P, @ 3iiv R &= v FEa § Swer s 16 0 17 20 §) 9% o7 T & e 3640 §, & Q
AP &F A= & T aw R M Q F §9 F AR F aged = 2

Ans XA 3:5
X8 3:4
xc2:5
D 2:3

Question ID : 630680173187
Status : Answered
Chosen Option: D

Q11 P 3k Q v& & # Fen 14 &7 3K 21 Be & 0 = v §| 59 w9 aen % B A 4
S % a5 P &I F1 oisar 957 AR Q & 30kel & A9 FA 0w T 90 & e G A o
§'3-‘|T‘?

Ans 5 A 14
X8 12
¥ C 15

X0 11

Question ID : 630680173212
Status : Not Answered
Chosen Option : --

Q.12 mﬁﬂaﬂmmﬁﬁvﬁﬂﬁaﬁScm, 15 cm, 17 cm E|
Ans X A 58 em?

¥ 8 60 cm?

X C 63 cm?

A D. 50 cm?

Question ID : 630680173235
Status : Answered
Chosen Option: B




Q.13 3z womr A 3T B e Wt @R W 275 km 7 g W F vE S GEE 6:00 A A F oF @
2 3iv 50 km/h Fr e & T FEA §) gEd 9T B ® gaw 7:00 3= = s A Froaiw
62.5 km/h Fr T T A FLT & T W AT TR

Ans XA 10:00 AM
<8 11:00 AM
X C 08:00 AM
+ 0. 09:00 AM

Question ID : 630680173205
Status : Answered
Chosen Option: B

Q.14 32400 ¥ T 14% =0 &7 9 n 99 FT TYUNT =0 AN 22,800 & 31T 8% =ur=f 2T 9T 3 3y asf
& TN ST T FAT: 8 © 7 &1 n T AT FT &2

Ans v A 96
xXB 85
xc 79
X 0. 10.1

Question ID : 630680173194
Status : Answered
Chosen Option: B

Q15w vudft v T ST = F v i SEaw e § 21 3 FH 9 % FR0T et &
T, FafE g@y et 7 e rumas s HH 147 ¥ ¥ ara el 3y g
W@mmqﬁﬁmﬁmm%%ﬁﬁmmﬁaﬁmﬁmﬁﬁm%Umm

&

Ans A 420
~< B 400
~<c 380
#< D. 360

Question ID : 630680173174
Status : Answered
Chosen Option: A

Q.16 =fy Ty fveet & a0 1 2 F 90 3% T SC AR Ir # 2 A Raw e A 97 B o F S

uﬁ%:s:nﬁ:m,mrﬁzﬁwﬁmm%ﬁrﬁaﬁzmﬁmmtﬁrﬁg & e §1 A
e & 30 3N W (FgAaH F H) F AT F=A 7

Ans XA G
+B 8
xc 11
X0 7

Question ID : 630680173231
Status : Not Answered
Chosen Option : --




Q.17 =y e Peger & waes 3R S & B (6, -1) 3R (4, 1) €, o 3@ Rig ¥ s, s fe

Ans

¥ ot ¥ wEEe  #
XA (=3,2)

v B (3,2)

xc (2,3)

X0 (2,-3)

Question ID : 630680173244
Status : Not Answered
Chosen Option : --

Q.18 fre 91 % T HeTTA HT 3 99T T 3T &

Ans

2017 2018 2019 2020

2021

2018 & =T B F T BHe $T 3991, Uo7 C & O waa & diag 3991 & frae 9foee #9272

()
XA 16
v B 14
xc 15
X0 17

Question ID : 630680173223
Status : Not Answered
Chosen Option : --

Q.19 220,000 # Rw i =0 & TFgfea & A= T 10% T¥F THge = T W 1% I§ F=

Ans

Thgfe ST AT H=AT|
XA 232515
X B.$3,352.5
xcC 23,2525
D %3,152.5

Question ID : 630680173199
Status : Answered
Chosen Option: D




Q.20 v TFg 650 % 3ifHd A0 W 8% N 12% Fr FER oF G & & ag ¥ a8 IR 3H 60% H
oM g & F a5 W HF qed A Hriew

Ans KA 23329
X B 3326.9
¥ C 23289
« D 2330.9

Question ID : 630680173181
Status : Not Answered
Chosen Option : --

Q.21 &= ABC & 4 waendy aiter, #b, siae it aear #) A it Sae B Wi A Eeen
5: 6 & 3 awar ik swe $r AfAE 3 F aeE Fen 4 3 | A B oAfes am A w3
ST B Fo AT 3T SR ) I SIS Hr AT 3T 26600 ¥, A A9 3wt F @
Faas AfeE 3 e 87

Ans A 5400
X & 5500
¥ ¢ 5600
X . 4600

Question ID : 630680173189
Status : Not Answered
Chosen Option : --

2 g a+b=Vi2 I a-b=v8 & Frat+bt=2
As Q4

X 5. 96

Xc. 95

XD 98

Question ID : 630680173226
Status : Not Answered
Chosen Option : --

Q.23 a7 #fT x ve O 5 IFT Fr TET o FEA ¥ B 12, 16, 35 T 42 F T = O9¢ Awwe
FAA: 5, 9, 28 3T 35 9o AT &1 x  F I H DR T §?

Ans XA 1D
x5 13
xc 10
D 11

Question ID : 630680173157
Status : Not Answered
Chosen Option : --




Q24 ofy 18 Frgst # T 7Ea, 21 TG F F9 oI F TR 7, A @ A a7 gfera 7 S

A XA 1629 gifer
XB. 14%% e
& C. 153% CIE ]

xD. 14%% grier

Question ID : 630680173178
Status : Answered
Chosen Option: C

Q.25 = =feg 5 9 # 165 km #r gff a9 Far #1 IR vES 100 km % Brw 37 719 50 kmth §, & 9
gl & fow @ freem 27

Ans

v A Zkm/h
x5 =km/h
xc Zkm/h

0. 2 km/h

Question ID : 630680173163
Status : Not Answered
Chosen Option : --






